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Directions (1-5): Study the following information carefully and answer the given questions:

AeTorTed ST T ST dE & STeq T hiford 3 (R0 T T o I Al

Seven persons P, Q, R, S, T, U and V have an exam on different days of the same week starting from
Monday to Sunday. They have their exam in seven different cities viz. A, B, C, D, E, F and G. The order of
persons, cities and days of the week are not necessarily the same. U has an exam in City D on Wednesday.
Q does not have an exam in city A and C but his exam is on the next day of V who has an exam in City F. T
has an exam in City E on Friday. P has an exam on Monday but not in City C and G. S has an exam in City A
but not on Tuesday.

AT ATRAT- P, Q, R, S, T, U 3T V &1 TTHATT | ot TAATE a0 U of TaTE F AT fadt & adrear grdt 81 It
TLTEAT FTT STA-3TAT - A, B, C, D, E, F 3T G | g1 SATRAT, T2l 37T THTE o (A1 T 77 THIT ST 9T h
Tl gl U il gEaT &l A8 D § 95T g1 Q &l TIeT g A 31T C | TGl § Iieh Ieehl TreAT V & 3l o &
STeafT 9XTeT g F | €1 T 3t OX0eqT SIhaT &l 91 E § g1 P &l 91T HI9aTe &l g dtehd 92 C ¥ G H &l g
S #T IETEAT 9TZT A | § AR HITAATE &l A5l g

Q1. Who has an exam on Saturday?

ferferfera @ & fereht oder afem & 82

(@s

(b) Q

(Vv

(d) Eitherb or c\ITdT b AT c

(e) None of These\ZH & &IT Al BILINGUAL

BANK

Q2. On which day does Q have an exam?

Q ¥ T ey R 87
(a) Sunday \¥fFam®

(b) Saturday\9r=aT< P R I ME

(c) Tuesday \HTEATX TEST PACK

(d) Cannot be determined\ﬁa'?ﬁ—cr .‘-r@' T ST aEar % 1BPS RRB, SBI, IBPS PO | Clerk & Others

(e) None of These\ZH & &IT Agl 1200+ TOTAL TESTS
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Q3. S has the exam on which day?
S ¥ et e fem 22

(a) Saturday

arfaTe

(b) Sunday

LACEIRS

(c) Tuesday

AL

(d) Thursday

EELIGEIRS

(e) None of These

T ATE TR

Q4. Which of the following combinations of person-city and day is correct?

f<h-9g¥ oY faet &1 Mwforfaa o & &7 |71 9291 el 82

(a) P-B-Wednesday
P-B-9&41X

(b) R-B-Monday
R-B-HIHATT

(c) R-C-Monday
R-C-HTHATT

(d) P-G-Sunday
P-G-TEaT™

(e) None of These

TH ¥ ATE TR

Q5. Who has an exam in City C and on which day?

9g¥ C # Foraeht odrert oie e e 82

(a) R, Thursday
R, &Y

(b) R, Tuesday

R, AT

(c) Q, Saturday

Q, arfFaTe

(d) Q, Sunday

Q A

(e) None of These

TH H ATE TR
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Directions (6-8): Study the following information and answer the given questions

fRerferfera STTshT<T T sreae oty i< fau 10 9 3 3% <iford|

Point G is 18m to the north of Point F. Point | is 12m to the east of Point K. Point B is 8m to the north of
Point J. Point C is 6m to the west of Point B. Point E is 9m to the south of Point C. Point K lies exactly
between Point G and Point F.

g6 Mg FFsm A 18der i Wl Hg ), g KF @ H 12 dex fir gt gl &g B, Mg #3ae# 8
Hex T T ww 3| &g ¢, &g B & afera § 6 #iex # g1 ww g1 {93 E, f6g ¢ % ot aferor # 81 g K, g G &iw
&g F & &t = & Rara g

Q6. In which direction is Point K with respect to Point E?
fSgEF a=d § g K ra far# 82

(a) West\Tfsrg

(b) Northwest\3TC-qf2%

(c) South\&feror

(d) Southeast\&faror-4a

(e) Cannot be determined \f&rtfa 9&T foFaT i1 Tt 8

Q7. In which direction is Point B with respect to Point G?
Rt G % et g B vy FRomm & 27

(a) West\afzra

(b) East\T&

(c) Southwest\aferor-afa

(d) Southeast\Zfaror-43

(e) None of these\ZaH & FIs 'TQPT

Q8. What is the shortest distance between Point J.and Point F?
&g ] 3w [&g F % &= a8 S 3 e?

(a) 9m\9 Hex

(b) 12m\12 Hex

(c) 15m\15 Hiex

(d) 21m\21 Htex

(e) Cannot be determined\F&TRa agT AT ST aFar g

Directions (9-13): Study the following information to answer the given questions.

faw arw et 3 S 29 F forn Awferfera S = sregaa i

Eight persons A, B, C, D, E, F, G and H live on a separate floor of an 8-floor building but not necessarily in
the same order. The ground floor is numbered 1; the first floor is numbered 2 and so on until the topmost
floor is numbered eight.

D lives immediately below C. Only two persons live below the floor on which G lives. Only one person
lives between G and A. H lives on an odd-numbered floor but not on floor no. 7. B does not live on the
topmost floor. A does not live on the bottommost floor. Neither D nor E lives on floor no. 6. Only two
persons live between H and B.
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5 =ATH- A, B, C, D, E, F, G 3T H Us 8-HISIET THTIA o STAT-3TT AT U¥ Tgd g ATohed ST&dl Agl 1o ool T |
S| A 3l FEAT 1 5; Tgol af sl |EAT 2 § 3T THT TH1E Had FULT q il HE&IT 1S g

D, C % &Y #= T2aT 81 G o T o A1+ *hael &l 2A1<h Tgd gl G 3T A F 19 Faer U =A< Lgar gl H fFaww ger
FTer T IT TEAT ¢ AThe af HEqT 7 9T A1 B TaH FULT a UL Ag1 LgaT gl A 9aH =l 9o uT dgl @argl =
T D T & E T §&AT 6 9 TgaT g1 H 3% B 3 19 aer a7 =Tk &d 2|

Q9. Who lives on the floor immediately below G?

G % e A= AT T T I AT 872
(@F
(b)E
(oD
(d)B
(e)C

Q10. On which of the following floor number does F live?
erforfea & & o 9o SeaT X F Tgar 87

(a) Four\=mX

(b) One \UH

(c) Eight \am3

(d) Five \ui=

(e) Six \=:

Q11. How many persons live between the floors on which A and E live?
A S E ¥ 7o 3 ot P =fen w2 7

(a) Three \@=

(b) More than three \T & ST{&

(c) None \&T gt

(d) Two \&T

(e) One \TH

Q12. Which of the following is true with respect to F as per the given arrangement?

2T TS AT & AAT F & gaer H, Refertea § & #1997 99 a0 57 TEST SERIES
(a) Only th:‘ee perso:ls liv(e\ betwef:n F and B. BILINGUAL
F 3fI¥ B % &= shae o A <h T8d &
(b) Only three persons live above F.
F % 39 el oI =41k 4ad gl

(c) F lives on the floor no. 6. IBPS CLERK 2022
F HToTeT ST 6 9% TgaT 8l PRELIMS + MAINS

(d) None of the given options is true.

& fAeedt § g & ft g7 951 2l
(e) F lives immediately above D.

F, D % 3% 39T Tgar gl

VIDEO SOLUTIONS

90+ Total Tests | eBooks

4 | www.bankersadda.com www.sscadda.com www.careerpower.in | Adda247 App


http://www.bankersadda.com/
http://www.sscadda.com/
http://www.careerpower.in/
https://play.google.com/store/apps/details?id=com.adda247.app&hl=en
https://www.adda247.com/product-testseries/7615/ibps-clerk-prelims-mains-2022-online-test-series-by-adda247

Q13. Who among the following lives on floor no. 4?
Ferferfad & & &I ao 9T 4 92 Tgar 8?2

(@)D

(b) C

() E

(d)B

(e)A

Directions (14-16): Study the following information and answer the given questions.

fRerferfera STThT<T T sreae oty i< faU 10 9o 3 3<% <iford|

In a family of nine members, there are five female members. There are three married couples in this
family. R and Q both are the mothers of two children. T is the brother-in-law of R. P is the father of R. V is
the son-in-law of Q. Y is the brother of X. W is the daughter of S. W and V has no siblings. R has a sister.

AT FEEIT AT U URETe § 9 9i2er g5e g1 39 uhian § A9 Far@a e g1 R oY Q I & &r gt hir
ATATH g1 T, R & q22-29-A1 g P, RFT U 81 V, Q &1 A-27-A1 81 Y, X T AT g1 W, S T TAT 81 W liT V &1
FTE ATE-AE 21 &1 R AT T 72 2

Q14. How is X related to T?

X, T foFe T § Hafard 82

(a) Nephew\ "

(b) Niece\" T

(c) Aunt\3E

(d) Either a or b\aTdTaaTh

(e) Cannot be determined\{&IifRa q&! =T SIT HFheil. &

Q15. How is S related to.R?

S, R & e wehTe & Haifera g7

(a) Brother\ 9IS

(b) Sister\@g

(c) Sister-in-law\ -z 9-=

(d) Mother\#\Tar

(e) Cannot be determined\F&Ra agT AT ST aFar g

Q16. How is Q related to W?

Q W & Tore werTe & Haifard g2

(a) Daughter\ Tt

(b) Aunt\ i

(c) Mother\#TdT

(d) Grandmother\¥THax

(e) None of these\ZaH & &I Aal
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Q17. How many such pairs of numbers are there in the given TEST SERIES
number “91487536” (Both backward and forward) same as BILINGUAL

VIDEO SOLUTIONS

according to numeric series?
< TS HEAT “91487536” (T 37T Aad ! arei (aorrsit ) H Hearsii
UH Foha e T30 & ST ST T & AHT qHH 57

(a) Three\d= IBPS PO 2022

(b) Five\Tr= PRELIMS + MAINS
(c) Two\&r

(d) One\TF

(e) None of these\Z7H | FT% 7g1 90+ Total Tests | eBooks

Directions (18-21): In each of the questions below are given some statements followed by two
conclusions. You have to take the given statements to be true even if they seem to be at variance with
commonly known facts. Read all the conclusions and then decide which of the given conclusions logically
follows from the given statements disregarding commonly known facts.

= a0 T ST 7 | T 20 3T 36 A12 &1 (Aehd (&0 T &1 SATThT (&7 TT FIT7 H7 T AT 8§ AA af o
AT AT | T8 T g gh| Tt oot sp afzu sy o6 [ofr Ao it fig 7o Aot § 9 & a7 Aoy
TAATT TT DI AAGAAT H I (ST T FHIAF] AT A0 BT & AT FHAT &l

Q18. Statements: Only a few Day are Night. All Night are Noon.
Conclusion I: All Day can be Noon.

II: Only a few Day are Noon.

FIT: A T, (o A gl T T I 8
foret 1; 7t ey AT By A B

II: % Fe 3 98T 8

(a) If only conclusion Lfollows.

% Faer (Ao [ STa0T YT 8l

(b) If only conclusion II follows.

T2 Faer Ao 11 T a2 HLaT &

(c) If either conclusion I or II follows.

T =7 a1 Ao [ 97 11 SAa0 T 2|

(d) If neither conclusion I nor II follows.
T T a1 Ao 1 3f7 7 & 11 T80T F2ar g

(e) If both conclusions I and II follow.

T R 1 &2 11 TET a0 #3d 2|

Q19. Statements: Only a few Door are Lock. Only a few Key are Lock.
Conclusion I: Only a few Door are Key.

II: Some Door can be Key.

FIT: Ha TS aLATS AT 5| HAA T ATHT ATA 2

e 1 g g T7ars AT )

I1: =TT ATHT g1 &Fahdl 5|
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(a) If only conclusion I follows.

TS haet oy [ a0 FaT gl

(b) If only conclusion II follows.

T2 haet oy 11 a0 FaT gl

(c) If either conclusion I or II follows.

T 2T a7 =y 1 3T 1 ST F:2aT g

(d) If neither conclusion I nor II follows.
T 7 a7 e [ 3f 7 2T 11 SIE<or F3aT g
(e) If both conclusions I and II follow.

T o [ 3 11 T SAE0T 3 &

Q20. Statements: Only Grey are Pink. No Purple are Grey.
Conclusion I: Some Purple are Pink

II: Some Pink can be Purple.

FIT: A I T[ATHT | HIE ST T 7ol gl
et I: = ST AT 2|

I1: g T[T ST 31 Tl 2|

(a) If only conclusion I follows.

7% Faer Aoy [ ST H0T HLaT g

(b) If only conclusion II follows.

TfT Faer Ao 11 STa2oT HLaT g

(c) If either conclusion I or II follows.

7t 77 7 R [ 97 11 a0 F2ar &

(d) If neither conclusion I nor II follows.
7% 7 7 (e [ 377 T &1 11 STE<0r FaT 2|
(e) If both conclusions I and II follow.

Tfe e 1 &l 11 T ST #d |

Q21. Statements: 100% Tape are Record: No Tape are Wire.
Conclusion I: Some Record are Wire.
II: All Record can be wire.

FI: 100% 7 Fots 21 7 27 a7 T8 21
e I: 7= Rt a8

II: {7 aRTS aTa< 81 9hd g

(a) If only conclusion I follows.

7% Faer Aoy [ ST a2 HLar &

(b) If only conclusion II follows.

Tf% Faer Aoy 11 a0 FLaT &

(c) If either conclusion I or II follows.

T =7 a1 Ao [ 97 11 SIa0 2T 2|

(d) If neither conclusion I nor II follows.
T T a1 Ao [ 3f7 7 & 11 a0 F2aT g
(e) If both conclusions I and II follow.

Tfe e 1 &2 11 T STa #3d 2|
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Directions (22-25): Study the following information carefully and answer the questions given below:

fRerferfera STThT<T T sreae oty i< faU 10 9 3 3% <iford|

Eight persons E, F, G, H, I, ], K and L sit in a row adjacent to each other having equal distance between
each other. Some of them are facing south while some of them are facing north direction.

Three persons sit between K and H, both of them face the opposite direction. There are as many persons
sitting between F and K as between K and ], who faces south. H is not an immediate neighbor of ] or F. E
sits third to the right of H. The one who sits immediate right of H faces north. E and G face opposite
directions. I and G are not immediate neighbors of |. E sits second to the left of . Imnmediate neighbors of I
faces the same direction as L. F sits at one of the extreme ends. G does not sit to the left of K. ] does not sit
immediate right of E.

s =ATH- E, F, G, H, 1, ], K 3% L 93F9% 316 g 31T U Uieh § U AL 6 91+ G019 g2 T@d gUaS gU gl IR o
T 1 {E SFET0T 6T 3 g STaTeh 15 T @ I Q90T 6l AT Z

K ol H % 7T T19 2AF 95 8, 39 &[0 a0 4@ Gad0a 3o i i g1 F 3T K & 927 3a+ g A6 95 g foraq K
3T | o e 9 B, Toreht @ feror it i g1 H, ] 37 F &7 Aefiean 9=+ 751 g1 E, H % a3 § dE< #2019 92 937
g1 g SAT<h ST H % 31 313 927 g SHET 4@ 302 0l A gl E 7 G faadia fRemsii fr s q@ Fxd g1 [ 37 G, | +
ehcan T2 921 §1 E, | & 10 § g6 €19 9 937 gl | & [Hehead TS &1 4@ L % 7@ & 90 QT H 81 F
Faref T SR B TR 35T 21 G, K AT AR 33T 21 ), B ¥ £ 2 Y ST 2

Q22. Which pair among the following sits at extreme ends?
fRerferfera ® & i a1 sTiet sifaw e ar aer 22

(a)F, H

(b)E,F

(a9 LG

(A F G

(e) None of these\Z7H H &I Agl

Q23. Who among the following sits third to the right of J?
fRrerferfera ® & & ) & 20 & o # a9 82

(@K

(b) G

(01

(d)F

(e)L

Bilingual

7,

Special Offer

Q24. How many persons face the South direction?

Rrerferfere 7 & Pt srfeat i o feror o 47 a2 IBPS 2022
(a) Three\dt= RRB PO
(b) Four\=T PRELIMS
() Five\tl'ia' with Vides Solutlons

(d) More than Five\Ti= & &=
(e) Cannot be determined\&TRa 7gT AT ST TsFaT &

55+ TOTAL TESTS
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Q25. Four among the following five are alike in a certain way and hence belongs to a group. Who does not
belong to that group?

Mo 97 § & =78 U HI2d i § G99 ¢ S SHoU U 948 § Ga14d gl A 39 998 o Faiad qal
?

(a) I-G

(b) F-L

(c) L-E

(d) K-J

(e) F-E

Q26. If 2 is subtracted from each odd number and 1 is added to each even in the number ‘83526794,
then which among the following digits will appear twice in the new number thus formed?

T H=aT '83526794" |, T (0w HEAT H | 2 FTIT ATAT 2 31T TIF 0 G a1 ® 1 AeTATar g, arfaw a7
FIe T 3 TH T I A5 9697 § &7 a7 f@re <m?

(a) Only 3\#a 3

(b) Only 3 and 5\%a 3 3f¥ 5

(c)3,5and 7\3, 5 3T 7

(d)1,5and 9\1,53¥ 9

(e) None of these\Z7H & #TE AT

Directions (27-30): Study the following information carefully to answer the given questions.

3T 0 i 3 3T & & forw Meferiad STaardt 7 e @ Teqae i |

Eight friends P, Q, R, S, T, U, V, and W are sitting around a square table in such a way that four of them sit
at four corners while four sit in theimiddle of each of the four sides. The ones who sit at the four corners
face the centre while those who sit in the.middle.of the sides face outside from the centre. V sits second to
the right of R. R sits in the middle of one of the sides of the table. Only two people sit between V and Q. S is
one of the immediate neighbours of Q. T sits second to the left of S. P sits second to the left of U. V is not
an immediate neighbour of U.

A F=-P,Q R, S, T, U, V, ST W U TTTRTT HST F AT AT T THIE 95 & o ITH F AT AT AT 9L 95 &
STETeh AT AT ASIT3H § | T ST o6 Hed § 95 g1 AT HA1 I S5 ATAT 0] TG 0% ol AL g ST 10 STl oh
HET | IS ATAT 1 @ i F qTEL 1 AT B

V, R % a8 & g TIT9 TT ST g1 R, HT 67 el U ST F AT F 92181 VAR Q F ST Fad S ATh 95 81 S, Q
F AT M T T TH I T, SFH ad  TEL A UL J3T gl P, U & a3 & T & 9T daT1 gl V, U &7
Aehean q=rt 951 2

Q27. How many people sit between R and T when counted from the right of R?
R % 31 & 9 92 R &l T % W& fohae ATh 98 82

(a) None\®Ts g1
(b) Four\=me

(c) One\TH

(d) Three\d=
(e) Two\&T
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Q28. Which of the following is true regarding P?
P % g |, Raferierd o & i |71 97 87

(a) Both T and R are immediate neighbors of P
T 3fi¥ R 1 P % [Aehea® T2 2l

(b) Only three people sit between P and S.

P 3T S % &1 At A1 ANT S5 B

(c) P sits at middle of one of the sides

P freft ST & e § J3ar 2|

(d) W sits second to the left of P

W, P % T3 & Y ¥4 9T 99T

(e) None of the given options is true.

e U fasedt & & #rs o g7 T8l g

Q29. What is the position of V with respect to Q?
Q % TraH | V &7 T £A17 872

(a) Second to the left\aTr & &I

(b) Third to the left\aTr & fra<r

(c) Second to the right\aM & TaIT

(d) Fifth to the right\ZT & Tr=at

(e) Fifth to the left\aT & qi=at

Q30. Four of the following five are alike in a certain way and so form a group. What is the one that does
not belong to that group?

et o= § & =1¢ TS A% s o G0 © 3% SHe0 UF 985 a97d gl a8 &I 97 g ST 39 998 &
SEIRER Y

(@)Q

(b)T

(c)S
(d)R
(e)V

Q31. How many letter/letters will remain in the same position in the word JUNGLEBOOK’ when they
are arranged in alphabetical order from left to right?

9153 'JUNGLEBOOK' # FHT 3721 &l A0 § a1 § T HAeqq fohd ST 92 Tonae steqe o1 (oot o w27
(a) Two\&T

(b) One\U=

(c) Three\&=

(d) More than Three\T+ & 12

(e) None\®Ts gl
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Directions (32-36): Study the following information carefully and answer the questions given below:

fRrerferfera STTeerT<T &7 steger oy sfie fRw 1o vt = 392 <o
9112829923889493483236

Q32. How many numbers are there which are immediately preceded by an even number and
immediately followed by an odd number?

UHT et T 8 foreen S 8ol Ush 90 |67 3fiY 31 a7a U s 6eq1 82
(a) one\U=

(b) two\&T

(c) three\d=

(d) four\=TX

(e) More than four\ =< & stfers

Q33. How many numbers are there which are immediately preceded by an odd number and are
immediately followed by an even number?

UHT FohavT T&ATU & ToTeeh Steh Igel U [o0H HEAT g $l¥ 31 a1 Ueh 937 HEq7 872
(a) one\TH

(b) two\&T

(c) three\d =

(d) four\=TX

(e) More than four\=T< & stfers

Q34. What is the product of 7% number from the left end and 4" number fromthe right end?
T B H ATTET ST T ST H AL §&AT T I[0A6HA F97 27
(a) 27

(b) 18

(c)32

(d) 36

(e) None of these\ZaH & FI< Aal

Q35. What is the addition of 10t number from the right end and
5t number from the left end?

T B 10T ST ard S & 53T SEAT T TNTHA F47T 87

@8 MAHA PACK

(b) 17

(c) 10 Live Class, Video Course,
(d) 11 Test Series, eBooks
(e) None of these\Z7H & &I AG! Bilingual (with eBooks)
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Q36. Which number is 2nd to the right of the one which is 12t from the left end?
raferfera § & wi-T @eaT 39 =0 & 378 § gEY T 92 ¢ S 978 S 7 123 #2479 1 8?
()2

(b)3

(c)4

(d)8

(e) None of these\Z7H & #TE AGI

Directions (37-40): Study the following information carefully and answer the questions given below:

T ToT e STTHARTE &7 eqTAIA AT 0l o Sl A= (&0 T 7 6 I <A 1o7

Eight persons i.e, ], K, L, M, N, O, P and Q go to market on different dates. No two persons go to market on
the same date. K goes to market immediately before M and O goes to market immediately after M. One
person goes to market between M and L. Two persons go to market between O and N. P goes to market
immediately after Q. P does not go to market at last. ] goes to market before N. | does not go to market
after 0. One person goes to market between P and O.

a5 =ATH- J, K, L, M, N, 0, P 3T Q SI@T-31eT ({21 < STSI1E STl 8| Fils 9T &I 1<k T gf (a1 &l aT(1< Agl
ST 81 K, M & 315 98 ST 0, M % ¥ a7& aTsi1¥ S1a1 g1 M 3% L 3 1= U A< areie Jrar gl 0 3T N &
= 21 =< Ao SITd 21 P, Q 21 aT8 aTSI1E SITaT | P 3= H arsi1e 7gl Srav 2l J, N & Tget arsir a2l ,

O % 918 TSI A1 STaT g1 P 3 0 o 1= el Ueh A T<h STS(1L ST 5

Q37. Four of the following five are alike in a certain way and hence they form.a group. Which one of the
following does not belong to that group?

et o= & ¥ =91 U [AiEa 6 & 9019 & oY SHie0 o Uh 898 a91d ¢ | At § § #5971 39
TR & He A A 2

(a) J-K

(b) L-M

(c) K-0O

(d)J-P

(e) Q-N

Q38. Who among the following goes to market immediate after O?
T ® | & O % 3% J18 a1 SITaT 872

(@P

(b) N

(@ Q

(d)J

(e) None of these\%ﬂ'ﬁ T FIS -TQPF
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Q39. The number of persons who goes to market between ] and M, is same as the number of persons who
goes between L and __?

J ST M F 1= ITSATE ST ATl SATRIT 30T T&AT, L 3T 1= ITSIT ST ATl STk #hi T&T o 90T 872

(@) P

(b) O

(@9Q

(AN

(e) None of these\Z7H & &I AG(

Q40. Who among the following person goes to market at last?
frforfea & & i ofq | ST ST 872

(AN

(b) P

(9Q

(dO

(e) None of these\Z7H & Fl< Aal

Q41. If ratio between total surface area of cylinder to its curved surface area is 4 : 3 then radius of
cylinder is what percent less then height of cylinder?

T T % T TSIT &AFA HT IHh a6 THIA AAFA & I 4:3 & AT J il AT 9o il Sa1e o foha
Terd 7 872

(a) 335%

(b) 50%

(c) 66=%

(d) 75%

(e) 835%

Q42. If a train running at the speed of 108 km/hr crossed a 240 meters long platform in 14 sec. then find
time taken by train to cross a 320 meters long goods train, which is running at the speed of 144 km/hr in
opposite direction?

7T I 37 108 FRei/aver & 1fa & It g 240 Hiex T Wehd AT 14 qFve § 9% w2t g 7 o
o # 144 Ffi/ser #t If0 § =1 W 320 Hiex A&t Aenmel & 9% F39 § 2 g0 olT &1 999 719

Frferu?

7isec 7idwve
7 \ 7

Slsec 51%&_5’

7 \ 7

92 Sec 9t mve
7 \ 7

@ 11 isec\ﬂ%ﬁ_@g
131sec 13 :3Fve

(e 7 \ 7

(a)
(b)
(c)
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Q43. The average age of Satish, Sandy & Abhi is 32 years and the BILINGUAL

ratio of their ages 10 years ago was 2 : 4 : 5 respectively . Find the
present age of Satish? _wdﬂ Solutions

Tciver, ST 37T oAf9 it 3\ o 32 a9 § TAT 10 T Tg Iehl A1 FT
AT FHLT: 2:4:5 AT qT TAT AT AAATT 3 AT 0l 1or? BA.NK

(a) 16 years\16 T
(b) 12 years\12 a9 PRIME
(c) 10 years\10 TEST PACK

(d) 22 years\22 a9

(e) 18 years\18 7% IBPS RRB, SBI, IBPS PO | Clerk & Others
1200+ TOTAL TESTS

Q44. Archit and Sandy enter into a business by investing in ratio 2 :

3 and the ratio of time period for which they invested is 4 : 5 respectively. If profit earned by Sandy is Rs.
420 more than the profit earned by Archit, then find the total profit earned by Archit and Sandy together?

Af=d A AT 2:3 & FqTd | a9 F:%h UF HaqE § Y997 F:d g A7 5| guamare & o 3egid [eer
ToFaT 8 ST SIuTa FHET: 4:5 g1 ITE HS FRT ASIq ATH AT=d gIT AT A1 F 420 . AF ¢, T A=
ST HST g AT Fef AT AT Hifora?

(a) Rs. 1320\1320 =.

(b) Rs. 1380\1380 =.

(c) Rs. 1440\1440 =.

(d) Rs. 1280\1280 =.

(e) Rs. 1460\1460 =.

Q45. There is a mixture of milk and water in which the ratio of milk to water is 3 : 2 respectively when,
40 liters of pure milk is added to the mixture, the ratio of water to milk become 1 : 2. If 90 liters of the
new mixture is taken out then find the quantity of water in the remaining quantity.of new mixture.

T ST T T T (407 & o g8 ST qIH1 A Squrd wHel: 3:2 5, S WA 7 40 o< 90& 39 e fer
STTAT &, T AT 7 g4 & Sqard 1:2 &1 a7 gl At =47 =07 777 90 <rex [Marar sar g av 0 sy #7 a9
ATAT § g 7 ATAT ST i

(a) 80 1it\80 =fiex

(b) 75 lit\75 =%

() 60 1it\60 #fTex

(d) 50 1it\50 =%

(e) 55 lit\55 2T

Q46. A boat travels in upstream. If the speed of boat in upstream in decreased by 40% then it is equal to
the speed of current and speed of boat in still water is given as 240 km/hr, then find upstream speed of
boat? (In km/hr).

T AT €T o T(dGd qaqdl gl TS €T o TTawet 919 a0l T 40% FHF gF STl g af Jg €T a0l AT o Jqa<
& ST oTTa T+t § A1a 6 Tha 240 /5T 2, 1 71 6t &7 % Ttage Tid S rtorar? (Feei/seT 7))

(a) 120

(b) 180

(c) 150

(d) 210

(e) 125
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Q47. A shopkeeper marks up the price of an article by 40% above cost price. He gives 25% discount on
marked price and earns Rs 420 profit. Find his profit if he gives discount of 20% in place of 25%.

U THAEN UF T K GoF 7T o7 ° 40% AT sifehd Far gl a8 dAhd Tod TT 25% i Fe <aT g 3T
420 FT FT ATH AT FAT 5| TR a8 25% F TATH TT 20% il Fe aqT g AT SHHT ATH FATd I o1

(a) Rs 1204\1204 %.

(b) Rs 1240\1240 %.

(c) Rs 1180\1180 .

(d) Rs 1008\ 1008 %,

(¢) Rs 1080\1080 %.

Q48. Interest earned on a sum in 1% years at 18% per annum at CI is Rs. 129, and interest calculated at

every 10 months. Find the sum.

et 91 7 =ehafeyg =TS 9 1%a'ﬂﬁ " 18% ATTH & & Tiora =419 129 . g 3T AT T I0ET T4 10
Tl | il STt g a7 TTLT ST bl rord

(a) Rs. 1000\1000 .

(b) Rs. 500\500 =.

(c) Rs. 529\529 =.

(d) Rs. 400\400 %,

(e) None of these\Z7H H &< ol

Q49. What is the probability of getting a sum of exactly 16 when three dices are rolled together?
T aTET AT T AT IBIAT G2 31 16 AT TN T I ol AT F4T 272

(a) 2/63

(b)1/18

(c)1/36

(d) 3/64

(e)1/72

Q50. Ratio of two numbers is 5: 7. If 30 is added in each number, the ratio becomes 3 : 4. Find the ratio of
the number if 10 is subtracted from each number.

3 AT BT AqATT 5 2 7 81 Afa T Fea1 § 30 S foam Sr, v 1 qand 3 : 4 81 S7a7 g1 FfS Jod gear §
T 10 =T AT S0 A7 HEIT FT SAATT 7T )

(a)5:8

(b)8:11

(c)7:10

(d)6:11

(e)7:9
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Directions (51-55): The following pie-chart shows the percentage break-up of accidents due to various
vehicles in a city.

et 9291 us age # At areat & wreor et & wiaera s & qoriar g

Total number of accidents = 24,000 (including both male and females)

THEATSAT il Tl AT = 24,000 (T2 AT AigAT T Ad)

Autos,
149

Q51. Find the average number of accidents that are due to motorcycles, Buses and cars?
HIETATS (hel, AT ST FHT o HILUT g ATAT SHSATH i ST TEAT AT I o70?

(a) 4,620

(b) 4,820

(c) 4,720

(d) 4,520

(e) 4,500

Q52. Out of the total number-of accidents caused by trucks and autos together, the ratio of Death to
Injuries is 13 : 11. Then find the number of injuries caused by these two vehicles.

o 3T el g7 HATHE. g2 gHenral il o GedlH 8, T o =TI gl H AqUTd 13:11 2 T ST a1 argar
& HTCUT HTAS B 0T HEAT ATT ity

(a) 3,300

(b) 3,900

(c) 4,400

(d) 3,410

(e) 3,850

Q53. If in total number of accidents 62%% are male. Male accidents due to cars and cycles is 40% of total
male accidents, then find the number of female accidents due to cars and cycles together?
T FeeATSA il T q&aT § 62%% & 2| I T ATShAT 6 AT g1 ATeAT T2 FHEATU Fof T G ATl

FT 40% &, TT 1L AT AT o HIL0T [HATHL HIgAT THSATHN 20l HEAT AT o702
(a) 720
(b) 900
(¢) 600
(d) 960
(e) 840
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Q54. Find the difference of the central angle corresponding to the RIS EIIF{33
number of accidents due to motorcycles and autos together and BILINGUAL
Trucks and cycles together. VIDEO SOLUTIONS
HIETATS e 3T el GIT THeATRT 9T T 3T ATshe g WAt

S ATAT FHSATST il FEAT o T ha [T FHIT FT AL AT Dl o1 IBPS CLERK 2022

(a) 35°

(b) 33.4° PRELIMS + MAINS
(c) 32.4°

(4) 3547 90+ Total Tests | eBooks
(e) 36°

Q55. Out of total accidents, 48% are resulted into spot deaths, which are only 6%% of the total population

of city. Then, find the number of female population, if the ratio of male to female is 13 : 11 in the city.
T FHeATH H | 48% I T gl HId Il 8, ST AL il Tl SITHEAT HT Had 6%%%‘??&44%« STTEEAT

AT AT o0, TS 9ET § & &1 Figar § Aqard 13:11 2
(a) 84,480
(b) 82,480
(c) 86,480
(d) 86,640
(e) 84,680

Directions (56-60): Find the missing no. in the following series.

et s o 7 @eqr A1 i)

Q56.1, 35,63,85,101,?
(a) 121
(b) 125
(c)101
(d) 105
(e) 111

Q57. 11, 22, 66, 330, ?, 25410
(a) 2310

(b) 2415

(c) 2523

(d) 20310

(e) 24015
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Q58.-5,1,13,7,55,85
(a) 23
(b) 30
(c)31
(d) 40
(e) 41

Q59.5, 17, 65, 257, 1025, ?
(a) 3087
(b) 3907
(c) 4107
(d) 4097
() 4101

Q60. 313, 300, 282, 254, 221, ?
(a) 178
(b) 200
(c) 208
(d) 180
(e) 198

Directions (61-65): What approximate value should come in place of question mark (?) in following
questions.

frferfera st ® wert=eg (7) % &9 9 SRTRT T /I ST AT 0?2

Q61.17.97% of 649.9 - 8.02% of 1149.99 =7
(a) 4
(b) 5
(c)3
(d) 6
(e)7

7-7.97 2
Q62. o X (5997)2 = 72

(a) 48
(b) 36
(c) 54
(d) 32
(e) 40

Q63.30.08% of4/7 th of 1/8 th 0f 419.91 =7
(a)6

(b) 18

(c) 15

(d)12

(e)9
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Q64.719.97 +80.02 + 60.07 x 119.97
(a) 14
(b) 20
(c)18
(d)10
(e) 24

Q65.899.9 x 25.02 + 36.01 = (? + 17.01)?
(a) 10

(b) 5

(c)18

(d) 12

(e) 8

Directions (66-70): Table given below shows information about total number of employees in these four
companies in three different years and line chart given below shows percentage of male employees in
these four different companies out of total employees and in given years

= & T2 qrferRT =9 A FAAIT H T AT AT H FHATAT T Tl HEAT F a1 H AR AT § ol
= T AT AT ATE 37 AW AT-A FAAAT § T HHATRI] | F T&T FHATIT T T(A90d I2q07aT 2|
(Total employees = male employees + female employees)

(T FHATN = T2 FHATL + AIZAT FHATLY)

Company/year 2016 2017 2018
GG

A 2000 2140 4000
B 3500 2000 3050
c 2200 3500 4000
D 4000 2500 1000

65
&0

N S T~
50 /

35

30
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Note: - Percentage of male employees is same every year in the any company.

e o~ et ot F9T § ToE a9 TR FHATAT 67 (97T TH gaT 2|

Q66. What is the percentage increase in the number of male employees in company A from 2016 to
20177

2016 & 2017 TF HUAT A § &0 FHATRAT il Fed7 7 Fohae Tiaerd iz g=?

(@) 7%

(b) 8%

(c) 10%

(d) 9%

(e) No change

T IEaT qgl

Q67. What is the no. of female employees in company D in year 2016 and 2018 together?
¥ 2016 3T 2018 FT [HATHT FAAT D § FAIZAT FHATRAL T FeAT Fha«t 82

(a) 2200

(b) 2050

(c) 2250

(d) 1900

(e) 2100

Q68. What is the ratio between male employees of company B in 2017 and 2016 together and female
employees in company D in 20167

2017 3T 2016 T HATHL FHOT B 6 J&T FHATAT G9T 2016 H FAAT D H AGAT FHATAT o S 19 HT S91q
fohaeT 872

(a) 3:2

(b) 11:7

(c) 9:7

(d) 11:9

(e) None of these. TEST SERIES

TH & ATE AL BILINGUAL

VIDEO SOLUTIONS
Q69. Female employees of company C in 2017 are what percent of

total employees of company A in 20167

2017 § F9T C it ARAT FHATLS 2016 H FAAT A & T FHATILAT T IBPS PO 2022

fefaT sfdor &7 PRELIMS + MAINS
(a) 35%
(b) 65%
(c) 70% 90+ Total Tests | eBooks
(d) 85%
(e) 75%
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Q70. What is the ratio between increase in male employees of company C from 2016 to 2017 to increase
in female employees of company A from 2016 to 2018?

2016 & 2017 TF FAAT C o T2 FHATAT H gl FT, 2016 7 2018 TH FUAT A il AIGAT FHATRAT | Frg &
AT TohaT 57

(a) 39:55

(b) 13:22

(c) 11:13

(d) 31:47

(e) None of these \Z7H & &I AT

Directions (71-75): In each of the following questions, two equations (I) and (II) are
given, you have to solve both the equations and give answer.

erTertera See o o, &1 FH0T (1) 3T (1) & 7T 8, SIrTeT A1 TR0 il gl HLAT g A 3L a7 gl

Q71.

Lx2+x—-6=0

ILy2+7y+11=—1

(@) Ifx>y\Txx>y

(M) Ifx=y\aTRXx2y

() Ifx<y\Tfex<y

(d)Ifxsy\Tfex<y

(e) If x = y or no relation can be established between x and y. \&T% x = y T x 3% y & 1= FIs Hee w10
2! T3 ST FhaT 2

Q72.
l.2x2—17x+35=0

II. 4y? =19y +21 =0

(@) Ifx>y\TR x>y

) Ifxzy\TfTx2y

() Ifx<y\afax<y

(d)Ifxsy\TRx<y

(e) If x = y or no relation can be established between x and y. \Tf% x = y IT x 3T y & 1= FIe Hae eq19q
el TRaT ST FhaT 2

Q73.
.Vx—-512=11
Il. y 4+ 353 =133
(@) Ifx>y\Tx x>y
) Ifxzy\TTx2y
() Ifx<y\afEx<y
(d)Ifxsy\TRx<y
(e) If x = y or no relation can be established between x and y. \Tf% x = y IT x 3T y & = FIe Faer w1i9q
el TRaT ST FhaT 2
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Q74. Bilingual
. x2 +39x = —380
Il. y2 + 37y = —342 Special Offer

(@) Ifx>y\aX x>y IBPS 2022

() Ifxzy\TTx2y RRB PO
() Ifx<y\afTx<y PRELIMS

(d)Ifxsy\Tex<y with Video Salutions

(e) If x = y or no relation can be established between x and y.

7% x = y AT x W y 3 = R Faer wriig TE B S qear 2) 55+ TOTAL TESTS

Q75.

2 2
lLx—2=2
x X

l.y2—2y+1=0

(@) Ifx>y\Txx>y
) Ifxzy\Tfe x>y
() Ifx<y\TRx<y
(d)Ifxsy\Tfex<y

(e) If x = y or no relation can be established between x and y.

IfE x = y AT x 3T y o A1 FlE Harel TITAT A5l (hIT ST THaT g

Directions (76-80): The table given below shows the no. of books published by 4 different publishers in
4 months. Study the data.and answer the following questions.

= ¥ TS qITHRT 4 TR F 4 STET-3TERT THRTLRT FILT TRIAT Teqahl ol HEAT (<@l T gl ST AT TTAT HY
3 fAefertera w=1f & 392 <)

th February March Apnl May
TEMAT wadr = s Y
Publisher
EEAEED
A 2000 2400 1800 2500
B 1500 1850 2000 2100
C 1750 2000 2250 2400
D 1200 1350 800 1250
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Q76. What is the average no. of books published by A in all the given months?
ST T g9t AT H A ZIRT TR TEAhT i Sied §edT fhaet g7

(a) 1740

(b) 2275

(c) 2050

(d) 2175

(e) 2250

Q77. Books published by B in February and March together is what percent more/less than that by C in
March and April? (approximate)

B ETT WYl 3T 919 § [T THId qeash, 919 A oe H C T THRIAq qeashi o fohad qfaerd
ATerh/FH 82 (FTHTH)

(a) 21%

(b) 24%

(c) 16%

(d) 12%

(e) 27%

Q78. Find the ratio between books published by C to D in all given months.

Tsft fa T AT H C FIRT TRIT TEAeh! 7 D GTET TR TEAehi & STAT ST hiforT)
(a) 23:45

(b)24:43

(c)42:23

(d)41:25

(e) 23 :42

Q79. Find the revenue obtained by B in March is how much more/less than that by D in same month, if
selling price of book is Rs 120 and all books are sold. (Note - cost price and selling price of each book is
same for all publishers)

1T HITorT o AT & BERT A IS0 ST Agiad D 1T 918 W5ea § fTehaeT sfgs/#9 g, s T &
o T 120 93 2 ST THT Teceh o= 1 STt 2| (FE - THF Teaah Al 77 ToF AT (dehd JoF THT THRITHT 6
fere &aT 2)

(a) Rs 50,000\50,000 ¥.
(b) Rs 40,000\40,000 %.
(c) Rs 55,000\55,000 %.
(d) Rs 70,000170,000 %.
(e) Rs 60,000\60,000 ¥.

Q80. Books published by A in April is what percent of book BA N K
published by C in March?

A TTRT 9 | TR Tedqeh q1 § C FTET THI1T e T (vl

e &7 MAHA PACK
0,

@) 1020/9 & Live Class, Video Course,

(b) 90% g

(c) 10% Test Series, eBooks

ES)) ;280/9% Bilingual (with eBooks)
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